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is exam has two (2) questions on six (6) pages. e marks for each question are as indicated. ere are
a total of 12 marks. Answer all questions. Write your answers and all rough work in this paper and nowhere
else. Show your work. Draw a box around your final answer. Numerical answers must include units. Books and
notes are allowed. No electronic devices other than calculators are allowed. Show your work.
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Question 1 ( 6 marks)

e value of H1/H2 in the transport overhead of a SONET frame decreases by 1 every mil-
lisecond.

(a) What is the difference between the payload and SONET data rates in bits/second?

(b) Is the payload clock rate faster or slower than the SONET clock rate? Why?

(c) If this is an OC-1 SONET link, what is the payload data rate?
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Question 2 ( 6 marks)

Appletalk was an early networking protocol. Write out the bytes of a PPP frame that encap-
sulates an Appletalk frameconsisting of the five bytes: 0x00, 0x08, 0xf3, 0x7e, 0x5e.
Appletalk’s PPP protocol number is 0x29. You may set the FCS (CRC) value to zero. Assume
the default link configuration. Give your answer in hexadecimal.
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Question 1 ( 6 marks)

e value of H1/H2 in the transport overhead of a SONET frame increases by 2 every mil-
lisecond.

(a) What is the difference between the payload and SONET data rates in bits/second?

(b) Is the payload clock rate faster or slower than the SONET clock rate? Why?

(c) If this is an OC-1 SONET link, what is the payload data rate?
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Question 2 ( 6 marks)

Appletalk was an early networking protocol. Write out the bytes of a PPP frame that encap-
sulates an Appletalk frameconsisting of the five bytes: 0x00, 0x08, 0xf3, 0x07d, 0x5e.
Appletalk’s PPP protocol number is 0x29. You may set the FCS (CRC) value to zero. Assume
the default link configuration. Give your answer in hexadecimal.

Exam 2 4



Exam 2 5



– is page intentionally le blank. –

Exam 2 6


